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Q. XI. fowfafm goar avem §-
o =y 8. 25,000 .
TRedeie =@ %. 20 iy garé
famra weg %. 30 it g
foifaea &6t oA -

() o faesr g oAl |
(i) . 25,000 = R & fore T & TR

(i) @ @ T 10,000 ¥ TR & foau femd sfafa

THREl At e i 71
The foliowing informations are available—
Fixed expenses ' Rs 25,000
Variables expenses Rs. 20 per unit
Selling price . Rs. 30 per unit
Calculate the following"

(i)  Break-even pointinunits =~
(i)  Sales volume to eamn a profit of Rs. 25,000

(i)} What additional units would be necessary to

increases the profit by Rs. 10,000.
Or
A ST & LAl wE o &l avl S
Describe the objécﬁves and advantages of Cost Audit.
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8.Com. (IVth Sem.) Exam. May-June, 2013
{(Accounting Group)
COST ACCOUNTING

Paper -
Time Allowed : Three Hours

- Maximum Marks : 85

Fe-  oft v wa S

[ote— Attempt all questions.
WIE-3
Section-A
P
ijective Type Quutioﬁs
1. T8 IR 79T DR Ix15=15
Select the correct answer—
(i) T A N UF AEEE T 8-
(31) wa () 9w
@) W (@) Tw
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(ii)

(w) WW@W yfien

&

(a) Ar (b) Science
{§¢)  Artand Science  (d) None of these

(2)

k@ﬂﬁt Ammuming isan m&emal tmi uf the-

{m Mmagemem (b)

Adn jmmtmtm

(c) O\W‘;sanm ~ (d) Entrepreneur

@.w @ P
(@) wenud R (@ i § B

Cost Accounting is—

@)
(@)

Cost Accounting is—

(a) A part of Book Keeping
(b) Apartof M%:mumt’ng
(c) ApartofAuditing
(dy Allof ﬁw above -
7 % 4 W w3
@ wEam
() I A

(3 Wi"fﬁm
(®) HREF @

! C:N“jﬁ " ! Qmm: Enswe

| )
@

(3)

o To mi arfwks epstand a::iﬁwe mve:fhaad are m:ywlms—?

GnﬁneBU.C«Dm

(vi)

(vii)

o (a) Dami: mﬁ
‘. (c) ‘Workscost
| ﬁ%m % é%ﬁr §~

| (@ _ Estimated price

(w) @ m |
.tUﬁder Mmhm& Hour Raw Methml a maehmf: is

(h) F’mm& Wﬁﬁ

m mrmgw @ sHmEdEEa
A mndﬁrpriw is— i | o
(b) Actual price

(o) . Standard price (d) WNone of the above
wf wwer ot gaf W A T 8-

(). & forarT (@)

@) W%%ﬁ%aﬁﬁ

treated as— ;
(a)  Service I}efpammm {b‘i Cost Uhit

(c) Cost Centre M} None of these

smmmﬁmwmmﬁmﬂ

(30) 3 e &R
@ IR |
(@) 3 T ¥R A F T
@ wTHIREAE |
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~ (#) Contractee

| (b) - Contractor
(c} Both Ctmmmm and Contractor
(d) Nmme of thuz%

: "nw ating costing methc&d is md in-—-
o ({a} - Transpog Business
| (b) “Hotel Bu&tm

(my ‘ § : 8 ““"‘,;?v“ e }‘

@ s

GN*‘!ﬁ - | : WK Barne

(a‘? mewwmabh (b ﬁnw“imd

{ﬁ} mw wwhiﬁ: (t’;i} Nm@fﬁwmm

A u ¢ ¥

@ s
When actual loss in pmmm! in more the
loss, the difference between ﬂw tvm is mam as—
(2) Normal wasmgﬁ
(b) . Normal aﬁffwtw OnhneBU com

(¢} Abnormal wamg&

n the normal

' {d} _ Abnormal effectives

*wmﬁrmmﬁwmwwmt
@) oo s () T

‘Which of the following item is not included in cost
e L

(2) Rent of factory

(b) Intereston capital

(c) Aﬁmhsmg Mp@m

(d)  Allof the above
ek . nva



http://www.rgpvonline.com

(xii)

(xiit)

(xiv)

(6)
o S st e ora % wftemE § s B F-
(31) zuftegal | s
@ B FA
(®) M =y F geEea | o
(@) 3wz = onlineBU.com

Causes of difference between the result of cost a/c

and financial a/c—
(a) Difference in overheads
(b) Difference in charging depreciation

(c) Difference in valuation of closing stock

(d) Allof the above

awmaﬁmm.mramé-
() T (@) T
(®) @Al (@) A9 & ¢ 7

The object of cost audit is—

(a) Protective (b) Constructive

(c) Both (d) None of these
fep wmm | gfy & wefe fag w -

(1) @ 9

(®) @i oitada 78 (@) & F 78

CN-15 Cantd

Q. 1.

(7)

The effect of increases in fixed cost on B.E.P.

(a) Decrease (b} Increase

(c) No change (d) None of these

(xv) wHfE=sz fg 9 & Wl

(21) foyerem o g 2

(@) frewm afy et onlineBU.com
(W) sfwem o g @

() T, F a2

Break-even point is where—

(2)  There is minimum profit

(b)  There is minimum loss

(c)  There is maximum profit
(d)  There is neither profit nor loss
TUE-§
Section-B
Y I gy
Short Answer Type Questions
A % faftm et @ g8 F avi fg

Briefly describe the different elements of cost.
Hgar
Or

MAl 40 -

5x5=25



Q. L

(8)
st Frmer & el & frdreen R
Discuss the advantages of material control,
RS & A G
Give a specimen of cost sheet.
JreET
Or
Frforfe e & aeflr sver <@ & Tom aif-
(a) mﬁmm;ma
(b) S S e 1,000 5.
(c) W @ s e 1,000 w2
(d) =R TaR ¥ FEvhe 92 160
(e) WA HE F WA HY 120 %.
() = uw F frg avie wand fér =9 40 %,

(@ W TRy o 4 T SR e w 85 4
Wi quaTi

onlineBU.com

- From thc following particulars calculate machine hour

rate-

(a) Cost of machine Rs. 16,000

(b) - Estimated scrap values Rs. 1,000

(¢) Estimated life.of machine 1,000 hours -

CN-1R Prantd

Q. IV.

Q. V.

(d)  Working hours for four weeks 160 hours

(e)  Repairs charging for a month Rs. 120.
()  Standing charges attributed to the machine for a

month Rs, 40 -

(g) Power used by machine 4 units per hour @ 85
‘paise per hour. '

aget 3% W A A T F f‘-‘rﬂﬁf @ wHEEd

Explain the rules for the calculation of proﬁt on an
incomplete contract.

Faay

Or
T FRE % RETE AT e T AR

-~

, Give a specimen of operating cost sheet of a transport

company.
st aReiET @ ww e e
Write the general features of process costing.
o .
Or
=7 T & T awed wet W gReaiE @y d @)

Name the industries where process costing is applied.

Q. VL mﬂ%z‘ﬁgwﬁ?wiim;
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x ~30)
. What is Break even point? Explain in brief.
Or
ST SR & Y a8
What do you understand by Cost Audit?
@ ug-|
Section-C
& swrdta yow
Long Answer Type Questions 5%9=45

Q. VIL. WFR S@iE 1 8?7 G s % 33V Ud weed #

Ui F |

What is Cost Accounting? Describe the objectives and
importance of Cost Accounting, |
| | Or
ST HEl G g gt A & &2 3
8 B i o W e
| What are the main incentive wage payment methods?
| Explain any three of them in brief. |

Q. Vm.tﬁmaﬁﬁ‘qwaﬁt‘aﬁ’nﬁmaﬁﬂlqﬁ-mﬂf |
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ﬁurzgilmam-wm@ﬁ—

UFE (F.) A (%)
weded A 28,000 20,000
TogE AR 16,000 10,000
P SRR 3000 - 2000

FITEHT IURST 13,000 %. & Fo1 SHraerd 3ufed 7,360
% &) IfE R W 25% A B &, A e av i
T I il
A factory produced 100 units of commodities "X gnd

*Y'. The cost of production was—

X (Rs) Y (Rs)

Di'rect. materials 28,000. 20,000
Direct wages 16,000 10,000
Direct expenses 3,000 . 2000

Factory on cost was Rs. 13,000 and office on cost was

Rs. 7,360. If a profit of 25% on sales is to be re_alised,
calculate selling price of each article. '
R )
Or ,
wrefte et a Tt o &2 wef gueT ot g e @ il

CN-15 PT.O.
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was started by him on Ist Jaunary 2012-
Materials Rs. 30,000, Wages Rs. 70,000, Plant at cost
Rs. 40,000, Establishment charges Rs. 5,000, Other

w0 87 5% ¥AT @9 7 il & avi B

What is Machine Hour Rate? What is the process of

::c;::;:g;a:s:‘:v:::;:e? Describe its areas of expenses Rs. .00, Work cerifed Rs. 110,000, Work
Q. IX. oo e ity & st 42 qﬁaﬁﬁ B uncertified Rs. 6,000, Ma'tenal in hand on December
31,2012 Rs. 11,000, Material returned to store Rs. 3,000,

fereremratt 7 @ 1 S| ' . -Plant at end Rs. 35,000, cash received from contractee
What is meant by operating cost? Explain the Rs. 99,000 and contract price Rs. 2,00,000. Prepare a

characteristics and scope of operating costing. -, . contract account.
Syora . Qs X. s IR A wiearel ¥ wa g &, w6, 5w e
Or | G e e
forifieer sz ot o sl g0 3 w101 % e R w_ | ®| = W
o #, W % 1 T, 2012 # wow B g | el T W s 2,000 -1 -
Tt 30,000 ., FHEH 70,000 5., EE A W 40,000 | Fod wweh @ o gwE FIAW@E | 25 -1 -
3., T S 5,000 5., 371 59 8,000 5., v wrd | HA Vs woelh T 5,000{ 3,000| 2,000
1,10,000 %., spmifrs w1 6,000 ¥., 31 R, 20i2 B | I A 12,000 12,000 | 15,000
Ty Tl 11,000 5., i ) i 3,000 % o7 | Yoo AW 1,600( 1,792] 2,092
# @ 35,000 5., 2HE Y WA IHE 99,000 5., Fey | A A (59 FH A 8%| 5%| 2%
3% EF 2,00,000 ¥. 3% @ww A e = 12,000 §, S 5:4:3 ¥ U & 7@ W)

“The following expenses were incurred by Shr‘ee Ram ST ER TR @ N AR ) uf g e SufEd

Co. in connection with their contract No., 101, which-

. , CN-15 PT.O.
CN-15 Contd. ... onlineBU.com
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A product is obtained through three process viz. P. Q,

R. The details are as follows— onlineBU.com

or—— T 71 9 R

Raw material introduced unit | | ‘ 2.000 - -
Purchased cost of raw materials per |

unit Rs. 25 - -

-Other direct material Rs. , 5,000 3.000] 2,000

Direct wages Rs. 12,000 | 12,000{15,000

Direct expenses Rs. 1,600f 1,792| 2,092

Normal Toss (% of input) 8%| s%| 2%

Indirect expensés of Rs. 12,000 shared in the ratio of
5:4:3. Prepare process accounts and detaennine the cost

per unit in each process.
* m
o . -
31 7, 2012 @ T & A 7 3 o v gffEr
%, &1 oW B @R 50,000 . & A feaen §,
S ST SRE  SER @ 44,000 %, 81 A g
W & W IR - |
() W o § SrEm I9ReEdl @ T 6,000 F. W
-
(i) @rm ot & eraiey et #i agett 10,000 .
s
CN-15

Contd. .....

{15)

(i) S T i 1,500 %, R dlt ¥ s faa

e
) TV R 500 5. ma@ﬁaqaaﬁm
3

(v) mmmmgc—m'l,ooo %. o ot o o R

R

The profit & loss A/c of Shyam Engineering Company

 for the year ending 31st March, 2012 shows a nét profit

of Rs. 50,000, while the profits as per cost A/c is Rs.

44,000. On scrutiny of both books, it was found-

(i)  Factory overheads were u‘nder-recovered\in cost
Alc by Rs. 6,000.

(i) Office overheads were over-recovered in cost
Alc by Rs. 10,000.

~ (ii))  Interest and individuals received Rs. 1,500 were

credited in financial accounts.
(iv)  Interest on debentures Rs. 500 was not recovered
in cost Alc.

(v)  Transfer fees Rs. 1,000 were credited in financial

accounts, '

CN-15 PT.C.
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